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1,762 13,938 3,151 78,646 17,781 178,953 1 552 4,244 3,039 26939 275,128
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6A RETGRIRIE)
a5 ) XA E (A) B () WEANE (A)
R3 R2 J24:3 R3 R2 J5d 1 R3 R2 Jad 1 R3 R2 Jad 1
At 1,719 1,541 178 1,621 1,431 190 9,931 9,986 -55 9,200 9,302 -102
2R 1,208 1,078 130 1,150 998 152 6,928 7,060 -132 6,455 6,598 -143
BB T 123 100 23 112 96 16 629 642 -13 590 630 -40
—fRas 202 210 -8 193 201 -8 1,292 1,279 13 1,203 1,198 5
Z Dt 186 153 33 166 136 30 1,082 1,005 77 952 876 76
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BN 5K (1) BEIANE (N) SN 5R (1) BEIAE (N)
w3 R3 R2 = R3 R2 e R3 R2 Ja 3 R3 R2 e
&&t 12 16 -4 8 10 -2 54 59 -5 38 34 4
NKEY 2 -2 3 -3 1 3 -2 3 3 0
REBEH 7 6 1 3 4 -1 30 28 2 19 19 0
KEEI 1 1 0 1 1 0 2 3 -1 2 3 -1
HICk DB 2 -2 0 0 3 -3 0 0
BYMEICKDEEW 2 -2 1 -1 3 6 -3 2 3 -1
HARUVERER 1 -1 0 0 1 4 -3 0 1 -1
Z D4t 4 2 2 4 1 3 17 12 5 12 5 7
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